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Background
As per [1], we provide our views on inter-cell IRC CQI open issues
Discussions

Test setup methodology for signal power
	· Option 1: Define test based on SINR
· Option 2: Define test based on SNR


Considering we have two cases that case 1 has interference and noise and case 2 has only noise with the condition that power of interference plus noise of case 1 equals to noise of case 2. SNR methodology will make a confusion that only power of noise is same.
Proposal 1: Define test based on SINR

SINR for 2 Rx 
· Option 1: -2 dB
· Option 2: 0dB or -1 dB
Based on our simulation results, the TP gain for IRC reporting is obvious when SNR is -2dB, hence we prefer option 1 to keep align with LTE.
Proposal 2: Use SINR=-2dB for 2RX

T-put gain for 2 Rx
· Option 1: 2
· Option 2: 1.5
Based on our simulation all options can feasible, we prefer option 1 to keep align with LTE.
Proposal 3: Use 2 for T-put gain for 2RX

SINR for 4 Rx
· Option 1: -2 dB
· Option 2: SINR requirement for 4Rx should be lower than that for 2Rx
We prefer option 1 to keep align with option 1
Proposal 4: Use SINR=-2dB for 4RX

T-put gain for 4 Rx
· Option 1: 2.5
· Option 2: 2
· Option 3: 3
· Option 4: 1.5
The gain depends on SNR point. Our simulation results show option 2 and 4 are feasible if SNR=-2dB is used. Hence, we prefer option 2 or option 4.
Proposal 5: Use 2 or 1.5 as T-put gain for 4RX
Conclusion
In this paper, we provide our simulation results for inter cell IRC CQI requirements. The proposals are:
Proposal 1: Define test based on SINR
Proposal 2: Use SINR=-2dB for 2RX
Proposal 3: Use 2 for T-put gain for 2RX
Proposal 4: Use SINR=-2dB for 4RX
Proposal 5: Use 2 or 1.5 as T-put gain for 4RX
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